248363101044b Size:84x115mm 80g¥BHE 2011-8

Awarded ISO 9001 & ISO 14001 Certification
www.vanguardworld.com

VANGUA3D'

www.vanguardworld.com

Ball Head Series

User Manual

i)

.'.(-;:3
C =

-90°~ +357/+40°




&y )

English
Thank you for purchasing a VANGUARD product.

Il Ball Head Locking Category

Knob "A" for ball and pan locking
Knaob "B" for swivel locking
Knob "C" for ball locking

Knob "D" for fine tuning

BEH Ball Head Tilt Angle System Category
Depending on the SBH ball head model, the ball head can tilt
between "-90° to +90° or -90° to +35°/-40°*

Quick Shoe (QS) System

Fix the equipment on the ball head ,then twist the locking disc "E" to
make the equipment more stable.Release the knob "F" then you can
take the QS out.Release the knob "F",then push the second safety
button"G" to take the QS out.Release the knob "F",then you can slide
the QS to you desire position depending on the platform;Push the
second safety button"G" ,then you can take the QS out.

KN Fix The Equipment On The QS

Using the coin, then you can fix the equipment on the QS.
Adjustable screw keeps equipment balanced

M Fix The Ball head On The Tripod

Turn out the 1/4" screw adapter.
Fix the ball head on the 3/8" screw.

Il Renewable Clamp System

Take Down The Camera Screw

Merci d'avoir acheté un produit VANGUARD.

Il Catégorie blocage de la téte sphérique

Bouton "A" pour blocage de la téte et du pancramique
Bouton "B" pour bloquer le pivotement

Bouton "C" pour bloquer la téte

Bouton "D" pour le réglage fin

Catégorie systéme de réglage de I'angle de pivotement
de la téte sphérique
Selon le modele de téle sphérique SBH, la téte peut pivoter de
-90° & +90° ou de -90" a +357/40™

BEE Systéme de plateau arelache rapide (PR)

Fixez I'équipement sur la téte sphérique, puis tournez le disque de
blocage "E" pour stabiliser I'équipement. Relachez le bouton “F”",
puis poussez sur le second bouton de sécurité "G” pour sortir le
PR. Relachez le bouton “F", vous pouvez alors faire glisser le QS
a la position désirée en fonction de la plateforme ; poussez surle
second bouton de sécurité "g ", et vous pouvez alors sortir le PR.

Fixez I'équipement sur le plateau a relache rapide

Utilisez alors la piéce pour fixer I'équipement sur le plateau a
relache rapide.
Une vis réglable assure I'équilibre de I'équipement

Bl Fixez la téte sphérique sur le trépied

Tournez I'adaptateur de vis 1/4"
Fixez |la téte sphérique sur la vis 3/8".

Il Systéme de collier échangeable

EEE Enieverlavis de I'appareil photo

Vielen Dank, dass Sie sich fiir ein Produkt von VANGUARD
entschieden haben.

M Kugelkopf-Verriegelung

Knopf ,A" fir Kugel- und Panoramakopf-Sperre
Kopf .B* fir Drehsperre

Kopf .C" fir Kugelsperre

Knopf D" zur Feineinstellung

Kugelkopf-Kippwinkelsystem

Abhangig vom SBH-Kugelkopfmodell kann der Kugelkopf zwischen
- 90° bis +90° oder -90° bis +35°/40°" geneigt werden.

Schnellwechselplattensystem

Fixieren Sie die Ausriistung auf dem Kugelkopf und drehen Sie
anschlieend die Arretierscheibe ,E", um die Ausriistung zu
stabilisieren. Lassen Sie Knopf ,F" los und driicken Sie den
zweiten Sicherheitsknopf .G*, um die Schnellwechselplatte
herauszunehmen.Lassen Sie Knopf ,F* los. Anschlieend kbnnen
Sie die Schnellwechselplatte in die gewiinschte Position auf der
Plattform bringen. Dricken Sie den zweiten Sicherheitsknopf ,G",
um die Schnellwechselplatte herauszunehmen.

KM Fixieren Sie die Ausriistung auf der
Schnellwechselplatte.

Mithilfe der Miinze kénnen Sie die Ausriistung auf der
Schnellwechselplatte fixieren.

Anpassbare Schrauben garantieren das Gleichgewicht der
Ausriistung.

Il Befestigen Sie den Kugelkopf auf dem Stativ

Drehen Sie das 1/4"-Schraubverbindungsstiick heraus.
Fixieren Sie den Kugelkopf auf der 3/8"-Schraube.

W Erneuerbares Klemmsystem

Nehmen Sie die Kameraschraube ab.

Italiano

Grazie per aver acquistato un prodotto VANGUARD.

Il Categoria Bloccaggio della testa a sfera

Manopola "A" per il bloccaggio di teste a sfera e panoramiche
Manopola “B" per il bloccaggio della rotazione

Manopola “C” per il bloccaggio di teste a sfera

Manopola “D" per una regolazione accurata

Categoria Sistema d'inclinazione delle testa a sfera
In base al modello SBH, la testa a sfera pud inclinarsi da "-80° a
+90° 0 da-90" a +35°/40™"

Sistema Piastra a sgancio rapido (QS)

Fissare I'attrezzatura sulla testa a sfera, poi avvitare il disco di
bloccaggio "E" per assicurare meglio I'attrezzatura. Rilasciare la
manopola “F" e successivamente premere il secondo pulsante di
sicurezza "G" perrilasciare la Qs.Rilasciare la manopola “F" e far
scivolare, a seconda della piattaforma, il @S alla posizione
desiderata. Premere il secondo pulsante di sicurezza “G” per poter
rilasciare la Qs.

Fissare |'attrezzatura alla QS

Usare una moneta per poter fissare |'attrezzatura alla QS.
Una vite di regolazione permette di bilanciare I'altrezzatura.

Bl Fissare latesta a sfera sul treppiede

Svitare I'adattatore da 1/4".
Fissare |a testa a sfera con una vite da 3/8".

I Sistema a morsetto sostituibile

Abbassare la vite della videocamera



Gracias por comprar un producto VANGUARD.

Il Categoria de bloqueo del cabezal de bola

Botén “A” para blogueo de bola y panoramico
Botan "B” para bloqueo de pivote

Botén “C" para bloqueo de bela

Botén “D" para ajuste fino

Categoria de sistema de angulo de inclinacién del
cabezal de bola

Dependiendo del modelo de cabezal de bola SBH, dicho cabezal
puede inclinarse entre 90° y 90" o entre -90° y +357/40°.

IEN Sistema Quick Shoe (QS)

Fije el equipo en el cabezal de bola y, a continuacion, gire el disco
de bloqueo “E" para hacer mas eslable el equipo. Afloje la rueda
“F"y, a continuacion, presione el segundo botén de seguridad "G”
para sacar la zapata QS.Suelte la rueda "F" para poder colocar la
zapata QS en la posicion deseada, dependiendo de la plataforma.
Empuje el segundo boton de seguridad “G” y entonces podra sacar
la zapata QS.

Fijar el equipo sobre la zapata QS

Usando una moneda podra fijar el equipo sobre la zapata QS.
Un tornillo ajustable mantiene el equipo estable

I Fije el cabezal de bola en el tripode

Sacar el adaptador del tornillo 1/4”
Fijar el cabezal de bola en el tornillo 3/8"

I Sistema de abrazadera renovable

Desmontar el tornillo de la camara

Nederlands

Wij danken u voor de aankoop van een VANGUARD product.

Il Kogelkopvergrendeling Categorie

Knop “A” voor het vergrendelen van de kogel en barrel
Knop “B" voor het vergrendelen van de draaischijf
Knop “C" voor het vergrendelen van de kogel

Knop “D" voor het afstellen

EM Kogelkop Inclinatiesysteem Categorie
Afhankelijk van het SBH kogelkopmodel, kan de kogelkop tussen
de”-90" tot +80° of -90° tot +35°/40°" kantelen.

EM Snelverankeringssysteem (QS)

Zet het apparaat op de kogelkop en draai dan aan de
vergrendelingsschijf E om het apparaal stabieler te maken. Laat
knop “F" los en druk dan op de tweede veiligheidsknop “G" om het
Qs in te schakelen.Laat knop “F" los en dan kunt u het QS in de
gewenste positie zetten, afhankelijk van het platform; Druk op de
tweede veiligheidsknop “G" om de QS in te schakelen.

£ Bevestig het Materiaal op het QS

Gebruik een munt om het apparaat op de QS te bevestigen.
Aanpasbare schroeven houden het apparaat in balans

Il Bevestig de kogelkop op het statief

Zetde 1/4" schroefadapter af
Bevestig de kogelkop op de 3/8" schroef.

I Vernieuwbaar Klemsysteem

Haal de Cameraschroef eruit

Dékujeme vam za zakoupeni produktu VANGUARD.

I Kategorie zamykani kulové hlavy

Knoflik ,A" pro zamé&eni kulové hlavy a desticky
Knoflik .B" pro zaméeni Gepu

Knoflik ,C" pro zaméeni kulové hlavy

Knoflik .D" pro adjustaci

Kategorie systému nastaveni Ghlu sklonu kulové hlavy
V zavislosti na modelu kulové hlavy SBH Ize hlavu naklonit v rozmezi
uhld ,-90° az +90° nebo -90° az +35740™"

BEE Rychloupinaci systém QS

Upevnéte pfislusenstvi na kulovou hlavu, pak otoéte koleckem zamku
LE" pro zajisténi stability pfislusenstvi. Uvolnéte kolecko F", pak
stisknéte druhé tlacitko pojistky ,G" pro vysunuti QS.Po uvolnéni
koleéka .F" pak mizZete rychloupinacim mechanismem QD posouvat do
pozadované polohy (v zavislosti na pouZité platformé); stisknéte druhé
pojistné tlacitko .G", poté muZete QS odejmout.

Upevnéni prislusenstvi na rychloupinaci destiéce QS

Pfislusenstvi mizete na QS upevnit pomoci mince.
Nastavitelné Srouby slouzi k vyrovnani pfisludenstvi.

Il Upevnéni kulové hlavy na stativ

Vysroubuijte 1/4" Sroubovy adaptér.
Kulovou hlavu upevnéte na 3/8" Sroub.

I Vyménny upinaci systém

QOdebrani Sroubu fotoaparatu

Dziekujemy za nabycie produktu firmy VANGUARD.

Il Kategoria blokady gowicy kulowej
Pokretlo ,A" blokada kuli i pan
Pokretio ,B" blokada przechylu

Pokretio ,C" blokada kuli
Pokretlo D" - dostrajanie

BEl Kategoria systemu kata przechylenia gtowicy kulowej

Zaleznie od modelu glowicy kulowej SBH, mozna ja przechyla¢ pod
katem od ,-90° do +90° lub -90° do +35°/40°"

BEE System szybkiego mocowania (Quick Shoe QS)

Sprzet zamocowac na glowicy kulowej, obrécic tarcze blokady ,E”, aby
zapewni¢ wigksza stabilnosé. Zwolnié pokretio F", nastepnie nacisnac
drugi przycisk bezpieczenstwa ,G", aby zdja¢ QS. Zwolni¢ pokretio F”,
nastepnie mozna przesuna¢ QS na potrzebne miejsce zaleznie od

platformy. Nacisna¢ drugi przycisk bezpieczenstwa .G", aby zdjac QS.

Il Zamocowa¢ sprzet na QS.

Do mocowania na QS moZna uzyé monety.
Do zbalansowania sprzetu uzywac sruby nastawczej

Il Zamocuj glowice kulowa na statywie

Whykrecic¢ adapter srubowy 1/4"
Zamocowac glowice kulowa na $rubie 3/8".

Il Wymienny system zaciskéw

Wyjmowalna $ruba kamery

‘EAAnVag
Zug EUXAPIOTOUME TTOU ayopdoare Eéva Tpoiov Tng VANGUARD.

Il Koatnyopia kAaiSwpatog KepaAig ogaipiSiou

KopBio «A» yia kAeidwpa opaipidiou kal koAwparog
Koppio «B» yia kheibwpa oTpogéa

KopBio «C» yia kAeidwpa ogaipidiou

KopBio «D» yia Aetrropepr puBpion

N Katnyopia cuatiparog ywviag kAiong kepahfg opaipiSiou

Avahoya pe 10 poviéAo kepahrg opaipidiou SBH, n kepahr opaipidiou
HTIOPET v TapE kAIoES amd «-90° £wg +90° fj amd -90° £wg +35°/40%»

ZooTnpa ypriyopou méSiAou (QS)

Z1epew)oTe Tov £EOTTAIONG OTNV KEQaA opaipiGiou Kal OTn CUVEXEID,
TEpIOTREWTE ToV BioKo ao@dhiang «E» YIO VO KATAOTATETE TOV
eomhiopd mo oTabepd. AmeAeuBepuioTe To KopBio «F» kai ot
OUVEXEIR, THECTE To BEUTEPO KOUpTH aogaleiag «Gy yia va aQaIpEdETe
Tipog Ta £§w To guaTnua QS. AmeAsuBepwoTe To KopBio «F» kan aTn
ouvéxeia, HTTopeiTe va ohioBoeTe 1o atotnpa QS oty emBupnT
Béon, avahoya pe Ty TAaT@Gppa. Miéate To SedTepo koupT
agpakeiag «G» yia va apaipEoeTe TPOG Ta £6w 10 oloTua QS.

Irepewarte Tov efomAioud oTo ouoTnua QS.
XpNoIHOTIONOVTAE T Ywvid HTTOPEITE va OTEPEWOETE ToV EEOTTAIOHG
oTo ouoTnpa QS.

H puBpidopevn Bida Siatnpei tov eforrhiopd o 100ppoTTia.

Bl irepewote TV Kegall opaipiBiou oTo Tpiodo.

MepioTpéyte mpog Ta £§w Tov TTpogappoyéa Riduwv 1/4”.
ZTEpEWOTE TNV KEQOAN opaipidiou aTn Bida 3/8".

Il Avavehoipo cUCTHHG TPIYKTAPA

| 7 | Karefdore tn Bida Tng puroypagikig pnxavig.



PYCCKMIA A3bIK

Dziekujemy za nabycie produktu firmy VANGUARD.

I Kategoria blokady glowicy kulowej

Pokretto (A" — blokada kuli i pan
Pokretto ,B" — blokada przechylu
Pokretto ,C" — blokada kuli
Pokretlo D" - dostrajanie

Kategoria systemu kata przechylenia glowicy kulowej

Zaleznie od modelu glowicy kulowej SBH, mozna ja przechyla¢ pod
katem od ,-90° do +80° lub -90° do +35°/40™

System szybkiego mocowania (Quick Shoe — QS)

Sprzet zamocowad na glowicy kulowej, obracic tarcze blokady E”, aby

zapewni¢ wieksza stabilnosé, Zwolnié pokretio F”, nastepnie nacisnac

drugi przycisk bezpieczenstwa .G", aby zdjac QS.2wolnic pokretio ,F",

nastepnie mozna przesunaé QS na potrzebne miejsce — zaleznie od

platformy. Nacisna¢ drugi przycisk bezpieczenstwa .G", aby zdjac QS.
KB Zamocowaé sprzet na QS.

Do mocowania na QS mozna uzyc monety.
Do zbalansowania sprzetu uzywac sruby nastawczej

3akpenuTe LWAPOBYIO FONOBKY Ha WTaTUBe

Whykrecic adapter srubowy 1/4"
Zamocowac glowice kulowa na srubje 3/8",

I Wymienny system zaciskow

Wyjmowalna $ruba kamery

Bir VANGUARD iiriinii satin aldiniz, tegekkiir ederiz.

M Oynar Bas Kilit Kategorisi
Oynar kafa ve doner kafa (pan) kilidi igin “A” diigmesi
Déner kilit igin “B" digmesi
QOynar bas kilidi igin “C” dagmesi
Hassas ayar igin “D" diigmesl
EM Oynar Bag Egim Agisi Sistem Kategorisi

Oynar bas. SBH oynar bas modeline bagli olarak, "-90° ila +90° veya
-80" ila 43577407 arasinda gevrilebilir.

BEN Quick Shoe (QS) Sistemi
Ekipmani oynar bas ile sabitleyin ve daha sonra ekipmani daha sabit
hale getirmek igin “E” kilitteme diskini gevirin. “F" diigmesine basin,
daha sonra ikinci emniyet digmesine “G” bastiktan sonra QS'yi disan
gikarin,"F” digmesine bastiktan sonra platforma badli olarak QS'yi
istediginiz konuma kaydirabilirsiniz; daha sonra ikinci emniyet
dugmesine “G" bastiktan sonra QS'yi disan cikarabilirsiniz.

Ekipmanin QS ile Sabitlenmesi

Jeton kullanarak ekipmani QS ile sabitleyebilirsiniz.
Ayarlanabilir vida, ekipmanin dengede durmasini saglar.

M Oynar Kafay: ¢ Ayakh Sehpa iizerine tespit edin

1/4"lik vida adaptériinii gikarin
Oynar bagi 3/8lik vida ile sabitleyin.

I Yenilenebilir Mandal Sistemi

KM Kamera Vidasini Asadiya ekin

Congratulamo-nos por sua escolha ter recaido num produto
VANGUARD.

Il Categoriade bloqueio da cabega esférica

Botao "A” para o bloqueio da esfera e do molde
Botao "B" para o bloqueio do pino

Botao "C" para o bloqueio da esfera

Botdo "D" para a sintonizagao fina

EN Categoria do sistema angular de inclinagdo da cabega
esférica

Depende do modelo da cabe¢a esférica SBH, a cabega esférica
pode inclinar entre "-90" a +90° ou -80° a +35%/40"
EEM sistema Quick Shoe (QS)

Fixe o equipamento na cabega esférica, rode o disco de bloqueio
"E" para tornar o equipamento mais estavel. Solte o botdo “F", e
puxe o segundo botao de seguranga "G" para remover o Qs.Solte
o botao “F", pode deslizar o QS para a posigao desejada de acordo
com a plataforma; Puxe o segundo botao de seguranga "G” .e
remova o QS.

M Fixar o equipamento no QS

Utilizando a moeda, pode fixar o equipamento no QS.
Os parafusos ajustéaveis mantém o equipamento equilibrado

I Fixe a cabega esférica no tripé

Rode o adaptador de parafuso 1/4"
Fixe a cabeca esféarica no parafuso 3/8".

M sistemade grampo renovavel

Remova o parafuso da cimara

3 failh gl o) 520 o1 ) S5
oA G e e
D3 A A e AN il
23B Qs
23Cs AN el
23 D 3ad bl
53S0 Gl 13 dasaza U it
40/°35+ 5°90- 51 °90+ +°90- & 0 sall (5980 Ll S (S Gkl vaa®
il e g gy S el e Jad S B 5a3 s feadl ) BAWY F A
23 e pisl G Gaall gl 4Y

DM iy Ay sall A gl el BY 3 GASAVG F ) e daisal G e g M
Caall

Casall e Sleall ' Il
o) AN G e all ol Aakill Jaad
S e Joadll S 2l
Oaall o Jleadl it
14 G20 Jyna "
3/8 &l e g8 o

il dalall HUss [N
1Al g 5

COER. NUA—FEHEEEEOROHWEEE, HIZHYNESTIL
7. REICEFEVLEE(ESIC. CORBRBESES —RINEES.
CERWELW ETIERESNL,
R—ibAvyEDBayI DEE
I R— B REn B EE
/7B KBS EE
A A—LBnrEE
/70 R— LB Mme
R~y FEEAEIZOLT
A I2-90" ~+90°E f2[3-90°~+35140° DRE THBT AL
NTEET, (K= AvFOEEIZI-TRAGVET.)
499 a—(QS)IZ21T
MHER—L~yFOLIZEE, [EI#ELTEELET. £f-. [FlO/
JEPED. (GIDE—I2F+—RALEWT LI VI a—ERYMT
CEMTEET,
ik, AFAFADTSYrI2+r—LOBE . [Fl1O/ 70058, [G]D
=T =RV ERLTOMY P a—2R5/F2E. [FID/T%EL
HAHEFEEMEBETI I a—kERTHENTEST,
WHE A7 21— IcBETS
AMVEEERALT. 4199 a—IcBHEBAET LA TEET.
SAVIYA—DBEICE-STIE, AT OMBERSIFLTHET AL
THAENSVAICAETHIENTEET .
Bl AL~y FEEHIZEAET S
M= AYFORBIZHH AL FRATEHBOBRTNYATE
YBALFARUMDONEEMERY R EMTEET,
W 757 — LMY SR HoEnTEET
(HoHFBERBLTLELEA)
Bl 1oy —0BEICEoTR, R SERYSN T LR TEST,



